mean # PXL hits vs eta | mean # PXL Layers with measurement vs eta |

4= pTTTem pore oo T

35__'nl.". """ l& """"" .’. """"" d‘.“l """ L

<pixel hits>
%
[

3

g
<pixel layers>

2.5
''''''''''''''''''''''''''''''''''''''''''''''''''''''' PR S N S W S—
---------
BEEN I —_—_—_——

.-

J-.\'OII*IIilllI:IIII:IIII:IIIIiIIII J-.LQIIIIillll:llIIiIIII;IIII;IIYII

- ¢+¢*+++H+++++$*++#++++**+¢++¢+#+W+*ﬁ - +

0.95L i i i i i 0.95L i i i i i

-3 -2 -1 0 1 2 3 -3 -2 —1 0 1 2 3
n n

—=— DQM_original_stepZ_tibar-phasel-newgeom

- —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

mean # STRIP hits V| _,_ DQM _pixelCPETemplateCutChiSquare5_step2._ttbar-phasel-newgeom

—+— DQM_pixelCPETemplateCutChiSquare5Test_step2_ttbar-phasel-newgeom

S B B

Ratio
%

%
5

Ratio

<strip hits>
<strip layers>

1O B

T
=
2
N
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
€%

1 ‘I 1 1 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1
[ TRYA) : : : : :

Ratio

3
e

=
LI —_—




	Contents
	Page 1


